
Installation Instructions

Phoenix Products Company Inc.   8711 West Port Avenue   Milwaukee, WI 53224 USA
Phone: +1 414.973.3300   Toll Free: 800.438.1214   Fax: +1 414.973.3210   www.phoenixlighting.com

Conveyo™ Pipe Adapter 

Product design and specifications are subject to change without notice. 

N5400401A
07.06.17

! CAUTION

•	 All wiring should be done by a licensed electrician in accordance with state codes, local codes, and National Electric Code (NEC) standards or International 
Electric Commission (IEC) standards. 

•	 Improper installation may result in serious injury and void warranty. 

•	 Keep wire connections dry.

•	 Contains parts and assemblies susceptible to damage by electrostatic discharge (ESD).

•	 When using luminaires, basic safety precautions should always be followed to reduce the risk of fire, electric shock and personal injury.

Wiring Instructions

1.	 Feed wires/cord through holes in neck casting, o-ring and base.

2.	 Attach neck with o-ring to base using M12 bolt (see Figure 2).

3.	 Secure Conveyo Pipe Adapter to pipe using appropriate hardware.  
Note: Each kit contains two sets of mounting screws:

•	 Four (4) M6 X 20 screws (for 1 ½ inch – 2 inch pipes)
•	 Four (4) M6 X 30 screws (for 1 inch – 1 ¼ inch pipes)

4.	 Install Conveyo fixture to pipe adapter (as shown in Figure 1).

5.	 See Conveyo installation instructions for further wiring details.

6.	 After connections are made, secure cover to neck casting using three (3) 
M4 screws. Tighten to 15 lb-in. Do not over tighten.

Aiming Instructions

1.	 Loosen M12 X 1.75 bolt until the locking wheel teeth are able to rotate.

2.	 Aim to desired orientation. 
Note: Do not aim the fixture above 90°. Each tooth on the locking wheel is 
5°. Each marking on the casting represents 30°.

Component List

Item Description

1 neck casting

2 cover

3 cover gasket

4 o-ring

5 base

Figure 1

Figure 2

1
2

3

5

4


